(RN
<

E= =
s L g
o =
= r 3
s. L . -
o = e L
Q© 113 [S)
[5) i
= H Y FH IR s
4
-+
1072
L. &
dhl 2 dbhbl ."i
I RN: B
c g 15F i
1.1 -F ik [ T
E [+ 1- ¥ :Ei 1
-k ek f - - =
r\E *’ﬁ : C T 3
107 1 10 0? - 10° 107 1
TP, (PCA t% beamling
— — i\ meniey ttharpi ~ITeWCo
—— %g :3% T}e t‘bar-ags 1-newgeom
—— pDIXe| emplale <! uar sle ar-| asel-newgeom
—— I—pIXe| emplateCutni uar —Sle ar-| asel-newgeom
—_— I—pixel empfareCurCni uar _STEE’-; %ar-gﬁasei-newgeom
—_— pixel emplatecutCni uar —Ste| ar-pnasel-newgeom
1] € :
e e
~ ~ T
o] .
)
=) 5 B O
S
10—1 - -
.910—2_ L fn .910—2_ L b |! N EREIT
T 14p ¥ T LSE R e
O 12F--H4 o E
£ I 200
0.8F--% ¥ 0.5F- »T """"" BT
10 10 1

2 3
TPl[g)T (PCA f})obeamlinéf)

+

SR

iy
TTTT T T

: 2 3
TPlpg)T (PCA t%obeamlin%)o

o

[y
o
I8



	Contents
	Page 1


